2. táblázat

Az oldószer hatása 1-fenil-1-pentin sztereoszelektív hidrogénezési reakciójára
Katalizátora

Oldószer

dL
[nm]
R

[cm3 H2 /min g Pd] Pd]
TOF

[s-1]
Konverzióatc "Conversion"
[%]
Scisz
[%]
Stransz
[%]
Yb


Pd-M1c
THF
3.72
38114
7.68
61
86
3
0.966

Pd-M1c
toluol
3.97
29264
5.89
67
85
4
0.955

Pd-M1c
hexán
1.86
11375
2.29
47
80
4
0.952

Pd-M2d
THF
3.72
15718
4.75
72
86
3
0.966

Pd-M2d
toluol
3.97
14283
4.31
71
85
4
0.955

Pd-M2d
hexán
1.86
3581
1.08
41
81
4
0.953


a  reakcióidő: 60 min

b Y = Scisz / S(cisz+ transz)

c  S:Pd = 10000


d  S:Pd = 5000

